Exam

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) If the cost of the beginning work in process inventor$54,000 direct materials cost i
$344,000direct labor cost i$210,000 and overhead cost $313,000 and the ending

work in process inventory 849,000 calculate the cost of goods manufactured.

A) $559,000
B) $970,000
c) $921,000
D) $872,000
E) $867,000

Answer: D
Diff: 2 Type: MC

1)

2) Use the following information to compute the cost of goods manufactured. Assum 2)

all raw materials used were traceable to specific units of product.

Beginning raw materials
Ending raw materials

Direct labor

Raw material purchases

Depreciation on factory equipment
Factory repairs and maintenance
Beginning finished goods inventory
Ending finished goods inventory

Beginning work in process inventory

Ending work in process inventory

A) $36,150

Answer: E
Diff: 3 Type: MC

B) $35,350

C) $42,150

D) $35,950

$

6600
5100
13,350
8500
7600
4400
11,300
10,000
6800
7400

E) $34,750



3) Current information for the Healey Company follows:

Beginning raw materials inventory
Raw material purchases

Ending raw materials inventory
Beginning work in process inventory
Ending work in process inventory
Direct labor

Total factory overhead

All raw materials used were traceable to specific units of product. Healey Compar

cost of goods manufactured for the year is:
A) $153,000
B) $146,800
C) $158,000
D) $152,400
E) $149,600

Answer: B
Diff: 3 Type: MC

$ 22,200
67,000
23,600
29,400
35,000
49,800
37,000

4) Comet Company accumulated the following account information for the year:

Beginning raw materials inventory
Indirect materials cost

Indirect labor cost

Maintenance of factory equipment
Direct labor cost

Using the above information, total factory overhead costs equal:

A) $12,500 B) $18,500 C) $20,400 D) $9600

Answer: A
Diff: 2 Type: MC

$ 6900
2900
5900
3700
7900

E) $15,700

3)

4)



5) A company's prime costs totdd,590,00(and its conversion costs to&8,600,000If

direct materials costs a$2,110,000calculate the overhead costs:
A) $3,490,000
B) $1,010,000
c) $2,480,000
D) $2,110,000
E) $3,120,000

Answer: E
Diff: 3 Type: MC

6) If the cost of the beginning work in process inventoi$46,100 costs of goods
manufactured i$940,000 direct materials cost 340,000 direct labor cost is

$220,000 and overhead cost $325,000 calculate the ending work in process invent

A) $15,100
B) $380,000
C) $55,000

D) $125,100
E) $324,900

Answer: A
Diff: 3 Type: MC

7) Asteroid Industries accumulated the following cost information for the year:

Direct materials $ 16,700
Indirect materials 4700
Indirect labor 9200
Factory depreciation 13,500
Direct labor 37,700

Using the above information, total factory overhead costs equal:
A) $18,200 B) $54,400 C) $13,500 D) $27,400

Answer: D
Diff: 2 Type: MC

E) $81,800

6)

7)



8) Use the cost information below for Sundar Company to determine the cost of goo  8)
manufactured during the current year:

Direct materials used $ 21,000
Direct labor used 26,500
Factory overhead 45,100
Beginning work in process inventory 12,700
Ending work in process inventory 13,300

A) $92,600 B) $47,500 c) $71,000 D) $92,000 E) $46,900
Answer: D

Diff: 2 Type: MC

9) Calculate the cost of goods sold using the following information: 9)
Direct materials used $ 299,800
Direct labor used 133,300
Factory overhead costs 265,300
General and administrative expenses 86,800
Selling expenses 50,100
Work in Process inventory, January 1 119,800
Work in Process inventory, December 31 127,200
Finished goods inventory, January 1 233,400
Finished goods inventory, December 31 240,000

A) $705,800
B) $698,400
C) $684,400
D) $691,000
E)$777,800
Answer: C

Diff: 3 Type: MC



10) Using the information below, calculate the cost of goods manufactured for the per

Beginning Raw Materials Inventory
Ending Raw Materials Inventory
Beginning Work in Process Inventory
Ending Work in Process Inventory
Beginning Finished Goods Inventory
Ending Finished Goods Inventory
Cost of Goods Sold for the period
Sales Revenues for the period
Operating Expenses for the period

A) $540,000
B) $557,000
C) $531,000
D) $565,000
E) $573,200

Answer: C
Diff: 3 Type: MC

11) Craigmont Company's direct materials costs$,200,000its direct labor costs total
$8,080,000and its factory overhead costs té#&/080,0001ts conversion costs total:

A) $12,280,000
B) $18,360,000
C) $14,160,000
D) $6,200,000

E) $10,280,000

Answer: C
Diff: 2 Type: MC

33,000
24,600
63,000
72,000
92,000
75,000

548,000
1,262,000
240,000

10)

11)



12) The following information is available for the year ended December 31: 12)

Beginning raw materials inventory $ 2800
Raw materials purchases 4300
Ending raw materials inventory 3300
Office supplies expense 1300

The amount of raw materials used in production for the year is:
A) $3800Q B) $430Q C) $4400Q D) $7100Q E) $5700Q

Answer: A
Diff: 2 Type: MC

13) A company's prime costs totjd,800,00(and its conversion costs to&8,800,000If 13)
direct materials ar$1,900,000and factory overhead 5,900,000then direct labor is:
A) $2,900,000
B) $4,000,000
C) $17,600,000
D) $4,800,000
E) $1,000,000

Answer. A
Diff: 3 Type: MC



14) Use the following data to determine the cost of goods manufactured: 14)

Beginning finished goods inventory $ 12,200
Direct labor used 32,000
Beginning work in process inventory 8600
General and administrative expenses 14,900
Direct materials used 41,900
Ending work in process inventory 10,400
Indirect labor 7700
Ending finished goods inventory 10,900
Indirect materials 14,900
Depreciation—factory equipment 8900

A) $103,600

B) $108,500

C) $107,200

D) $122,100

E) $118,500
Answer: A

Diff: 3 Type: MC

15) Use the following information to calculate the cost of goods sold for the period: 15)

Beginning Finished Goods Inventory $ 24,500
Ending Finished Goods Inventory 23,000
Cost of Goods Manufactured 131,800

A) $133,300
B) $130,300
C) $156,300
D) $179,300
E)$131,800

Answer: A
Diff: 2 Type: MC



16) Using the information below, calculate cost of goods sold for the period: 16)

Sales revenues for the period $ 1,320,000
Operating expenses for the period 255,000
Finished Goods Inventory, January 1 52,000
Finished Goods Inventory, December 31 57,000
Cost of goods manufactured for the period 556,000

A) $806,000

B) $400,000

C) $514,000

D) $551,000

E) $801,000
Answer: D

Diff: 2 Type: MC

17) Use the cost information below for Ruiz Inc. to determine the total manufacturing 17)
incurred during the year:

Work in Process, January 1 $ 50,400
Work in Process, December 31 37,200
Direct materials used $ 12,700
Total factory overhead 5700
Direct labor used 26,700

A) $13,200 B) $89,800 c) $95,500 D) $45,100 E) $58,300
Answer: D

Diff: 2 Type: MC



18) Richards Company manufactures a single product. All raw materials used are trac
to specific units of product. Current information for the company follows:

Beginning raw materials inventory $ 18,000
Ending raw materials inventory 20,000
Raw material purchases 98,000
Beginning work in process inventory 48,000
Ending work in process inventory 33,000
Direct labor 138,000
Total factory overhead 68,000
Beginning finished goods inventory 63,000
Ending finished goods inventory 53,000

The company's cost of direct materials used, cost of goods manufactured and cos
goods sold is:

A)

E. $100,000 $287,000 $317,000
B)

C. $96,000 $287,000 $307,000
C)

B. $100,000 $317,000 $327,000
D)

D. $96,000 $317,000 $327,000
E)

Cost of Materials Cost of Goods Cost of Goods
Used Manufactured Sold
A. $98,000 $317,000 $307,000
Answer: D

Diff: 3 Type: MC

18)



19) Xia Co. manufactures a single product. All raw materials used are traceable to sp  19)
units of product. Current information for company follows:

Beginning raw materials inventory $ 22,000
Ending raw materials inventory 25,000
Raw material purchases 99,000
Beginning work in process inventory 34,000
Ending work in process inventory 44,000
Direct labor 124,000
Total factory overhead 99,000
Beginning finished goods inventory 74,000
Ending finished goods inventory 54,000

The company's cost of direct materials used, cost of goods manufactured and cos
goods sold is:

A)

D. $96,000 $309,000 $329,000
B)

Cost of Materials Cost of Goods Cost of Goods
Used Manufactured Sold

A. $99,000 $309,000 $289,000
C)

B. $102,000 $309,000 $329,000
D)

E. $102,000 $329,000 $309,000
E)

C. $96,000 $329,000 $289,000

Answer: A

Diff: 3 Type: MC

10



20) Romeo Corporation reports the following for the year: 20)

Finished goods inventory, January 1 $ 4100
Finished goods inventory, December 31 4900
Total cost of goods sold 6000

The cost of goods manufactured for the year is:
A) $6800 B) $10,900 c) $10,100 D) $1100Q E) $1900Q

Answer: A
Diff: 3 Type: MC

21) Use the following data to compute total factory overhead costs for the month: 21)
Sales commissions $ 11,400
Direct labor 40,200
Indirect materials 15,800
Factory manager salaries 7800
Factory supplies 9600
Indirect labor 6900
Depreciation—office equipment 5600
Direct materials 41,100
Corporate office salaries 43,100
Depreciation—factory equipment 8100

A) $48,200
B) $129,500
C) $88,400
D) $146,500
E) $60,100
Answer: A

Diff: 2 Type: MC

11



22) Current information for the Healey Company follows:

Beginning raw materials inventory $ 16,100

Raw material purchases

Ending raw materials inventory
Beginning work in process inventory
Ending work in process inventory
Direct labor

Total factory overhead

All raw materials used were traceable to specific units of product. Healey Compar

total manufacturing costs for the year are:
A) $145,800
B) $151,400
C) $150,700
D) $148,600
E) $140,200

Answer. A
Diff: 2 Type: MC

23) Current information for the Stellar Corporation follows:

Beginning work in process inventory $
Ending work in process inventory

Direct materials used

Direct labor used

Total factory overhead

Stellar Corporation's cost of goods manufactured for the year is:
A) $350,700
B) $389,000
C) $352,100
D) $353,500
E) $313,800

Answer: A
Diff: 2 Type: MC

12

69,000
17,500
23,300
28,900
47,300
30,900

36,900
38,300

166,000
104,000

82,100

22)

23)



24) If beginning and ending work in process inventories$&&00and$16,300 24)
respectively, and cost of goods manufacture®llB3,000 what is the total
manufacturing cost for the period?
A) $189,300
B) $193,000
C) $173,000
D) $166,700
E)$176,700

Answer: B
Diff: 3 Type: MC

25) Using the information below, compute the days' sales in raw materials inventory:  25)

Raw materials used $ 129,600
Beginning raw materials inventory 18,400
Ending raw materials inventory 20,600

A) 51.80Q B) 6.29 C) 58.02 D) 7.04 E) 6.65
Answer: C

Diff: 2 Type: MC

26) The following information relates to the manufacturing operations of the JNR Prin  26)
Company for the year:

Beginning Ending
Raw materials inventory $ 61,000 $ 64,000
Finished goods 72,000 64,000

The raw materials used in manufacturing during the year tofdl28,000 Raw
materials purchased during the year amount to:

A) $130,000

B) $125,000

C) $122,000

D) $111,000

E) $119,000

Answer: B
Diff: 3 Type: MC

13



27) Using the information below, calculate net income for the period: 27)

Sales revenues for the period $ 1,319,000
Operating expenses for the period 254,000
Finished Goods Inventory, January 1 51,000
Finished Goods Inventory, December 31 56,000
Cost of goods manufactured for the period 555,000

A) $550,000

B) $403,000

C) $799,000

D) $804,000

E) $515,000
Answer: E

Diff: 3 Type: MC

28) A manufacturing company has a beginning finished goods invent&3%80Q cost of  28)
goods manufactured 659,500 and an ending finished goods inventoryas,600 The
cost of goods sold for this company is:

A) $88,100
B) $160Q

C) $117,400
D) $58,800
E) $60,200

Answer: E
Diff: 2 Type: MC

29) The following information is available for the year ended December 31: 29)
Beginning raw materials inventory $ 12,800
Raw materials purchases 89,600
Ending raw materials inventory 12,200
Manufacturing supplies expense 720

The amount of raw materials used in production for the year is:
A) $89,000 B) $90,920 c) $77,400 D) $90,200 E) $90,320

Answer. D
Diff: 2 Type: MC

14



30) Use the following data to compute total manufacturing costs for the month: 30)

Sales commissions $ 12,400
Direct labor 41,200
Indirect materials 16,800
Factory manager salaries 8800
Factory supplies 10,600
Indirect labor 7900
Depreciation—office equipment 6600
Direct materials 42,100
Corporate office salaries 44,100
Depreciation—factory equipment 9100

A) $53,200

B) $136,500

C) $63,100

D) $155,500

E) $94,400
Answer: B

Diff: 2 Type: MC

31) A manufacturing company has a beginning finished goods invent&3$60100 raw 31)
material purchases &fL9,50Q cost of goods manufactured$85,500 and an ending
finished goods inventory &19,300 The cost of goods sold for this company is:

A) $51,600 B) $32,300 c) $30,600 D) $22,700 E) $35,500

Answer: B
Diff: 3 Type: MC

32) Using the information below, compute the days' sales in raw materials inventory:  32)

Raw materials used $ 104,500
Beginning raw materials inventory 9900
Ending raw materials inventory 12,800

A) 10.86 B) 39.6Q C)9.21 D) 44.71 E) 10.08
Answer: D

Diff: 2 Type: MC

15



33) The following information relates to the manufacturing operations of the Abbra 33)
Publishing Company for the year:

Beginning Ending
Raw materials inventory $ 563,000 $ 626,000

The raw materials used in manufacturing during the year totdl@98,000Raw
materials purchased during the year amount to:

A) $472,000

B) $1,661,000

C) $1,161,000

D) $1,035,000

E) $972,000

Answer: C
Diff: 2 Type: MC

34) Calculate the cost of goods manufactured using the following information: 34)
Direct materials used $ 300,000
Direct labor used 133,500
Factory overhead costs 265,500
General and administrative expenses 87,000
Selling expenses 50,300
Work in Process inventory, January 1 120,000
Work in Process inventory, December 31 127,400
Finished goods inventory, January 1 233,600
Finished goods inventory, December 31 240,200

A) $699,000
B) $778,600
C) $691,600
D) $706,400
E) $685,000
Answer: C

Diff: 3 Type: MC

16



35) Use the following data to calculate the cost of goods sold for the period: 35)

Beginning Raw Materials Inventory $ 30,600
Ending Raw Materials Inventory 70,600
Beginning Work in Process Inventory 40,600
Ending Work in Process Inventory 46,600
Beginning Finished Goods Inventory 72,600
Ending Finished Goods Inventory 68,600
Cost of Goods Manufactured for the period 246,600

A) $250,600

B) $258,600

C) $242,600

D) $290,600

E) $246,600
Answer: A

Diff: 3 Type: MC

36) Use the cost information below for Laurels Company to determine the cost of goo 36)
manufactured during the current year:

Direct materials used $ 5200
Direct labor 7200
Total factory overhead 5300
Beginning work in process 3200
Ending work in process 4400

A) $12,400 B) $18,900 C) $14,200 D) $17,700 E) $16,500
Answer: E

Diff: 2 Type: MC

17



37) Using the information below, calculate gross profit for the period: 37)

Beginning Raw Materials Inventory $ 23,500
Ending Raw Materials Inventory 28,500
Beginning Work in Process Inventory 52,000
Ending Work in Process Inventory 61,000
Beginning Finished Goods Inventory 77,000
Ending Finished Goods Inventory 64,000
Cost of Goods Sold for the period 525,000
Sales Revenues for the period 1,224,000
Operating Expenses for the period 217,000

A) $712,000

B) $1,007,000

C) $176,000

D) $699,000

E) $482,000
Answer: D

Diff: 3 Type: MC

38) Use the cost information below for Ruiz, Inc. to determine cost of goods manufact 38)
for the year:

Work in Process, January 1 $ 51,400
Work in Process, December 31 37,700
Total factory overhead 6200
Direct materials used 13,200
Direct labor used 27,200

A) $13,700 B) $98,000 C) $46,600 D) $54,100 E) $60,300
Answer: E

Diff: 2 Type: MC

18



39) Using the information below, compute the raw materials inventory turnover:

Raw materials used $ 131,600

Beginning raw materials inventory 18,500

Ending raw materials inventory 20,700
A) 57.40Q B) 6.36 C) 51.3Q D) 7.11 E)6.71

Answer: E

Diff: 2 Type: MC

40) Mustang Corporation reports the following for the month of April:

Finished goods inventory, April 1 $ 30,600

Finished goods inventory, April 30 25,000

Total cost of goods manufactured 116,400

The cost of goods sold for April is:
A) $110,800
B) $147,000
C) $122,000
D) $171,200
E) $60,800

Answer: C
Diff: 2 Type: MC

19

39)

40)



41) Using the information below, calculate gross profit for the period. 41)

Sales revenues for the period $ 1,344,000
Operating expenses for the period 243,000
Finished Goods Inventory, January 1 36,400
Finished Goods Inventory, December 31 41,400
Cost of goods manufactured for the period 560,000

A) $794,000

B) $463,200

C) $789,000

D) $555,000

E) $550,000
Answer: C

Diff: 3 Type: MC

42) Current information for the Healey Company follows: 42)

Beginning raw materials inventory $ 16,300
Raw material purchases 61,100
Ending raw materials inventory 17,700
Beginning work in process inventory 23,500
Ending work in process inventory 29,100
Direct labor 43,900
Total factory overhead 31,100

All raw materials used were traceable to specific units of product. Healey Compar
direct materials used for the year is:
A) $62,500 B) $61,100 C) $59,700 D) $77,400 E) $78,800

Answer: C
Diff: 2 Type: MC

20



43) Using the information below, compute the raw materials inventory turnover: 43)

Raw materials used $ 102,500
Beginning raw materials inventory 9700
Ending raw materials inventory 12,400

A) 10.78 B) 8.27. C) 10.15 D) 368.80 E)9.28
Answer: E

Diff: 2 Type: MC

44) Use the cost information below for Sundar Company to determine the total 44)
manufacturing costs added during the current year:

Direct materials used $ 20,200
Direct labor used 25,700
Factory overhead 49,100
Beginning work in process inventory 11,900
Ending work in process inventory 12,500

A) $95,000 B) $45,300 C) $74,200 D) $94,400 E) $45,900
Answer: A

Diff: 2 Type: MC

45) Craigmont Company's direct materials costs$a:@00,000its direct labor costs total  45)
$8,260,000and its factory overhead costs t@#&(260,0001ts prime costs total:
A) $10,660,000
B) $12,660,000
C) $6,400,000
D) $18,920,000
E) $14,520,000

Answer. B
Diff: 2 Type: MC

21



46) Use the cost information below for Laurels Company to determine the manufactur 46)
costs added during the current year:

Direct materials used $ 6500
Direct labor used 8500
Total factory overhead 6600
Beginning work in process inventory 4500
Ending work in process inventory 7000

A) $21,600 B) $15,000 C) $18,100 D) $19,100 E) $24,100
Answer: A

Diff: 2 Type: MC

22



Answer Key
Testname: CH1

1)D
Diff: 2 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
2)E
Diff: 3 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
3)B
Diff: 3 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
4HA
Diff: 2 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
5E
Diff: 3 Page Ref:
Topic: Comparing Product and Period Costs
6) A
Diff: 3 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
7)D
Diff: 2 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
8)D
Diff: 2 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
9)C
Diff: 3 Page Ref:
Topic: Income Statement
10)C
Diff: 3 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
11)C
Diff: 2 Page Ref:
Topic: Comparing Product and Period Costs; Manufacturing Costs
12)A
Diff: 2 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
13)A
Diff: 3 Page Ref:
Topic: Comparing Product and Period Costs
14) A
Diff: 3 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
15) A
Diff: 2 Page Ref:
Topic: Schedule of Cost of Goods Manufactured
16) D
Diff: 2 Page Ref:
Topic: Income Statement

23



Answer Key
Testname: CH1

17)D

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
18)D

Diff: 3 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
19)A

Diff: 3 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
20) A

Diff: 3 Page Ref:

Topic: Income Statement
21)A

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
22) A

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
23)A

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
24)B

Diff: 3 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
25)C

Diff: 2 Page Ref:

Topic: Raw Materials Inventory Turnover and Days' Sales
26)B

Diff: 3 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
27 E

Diff: 3 Page Ref:

Topic: Income Statement
28)E

Diff: 2 Page Ref:

Topic: Income Statement
29)D

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
30)B

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
31)B

Diff: 3 Page Ref:

Topic: Income Statement
32)D

Diff: 2 Page Ref:

Topic: Raw Materials Inventory Turnover and Days' Sales



Answer Key
Testname: CH1

33)C

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
34)C

Diff: 3 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
35) A

Diff: 3 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
36) E

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
37)D

Diff: 3 Page Ref:

Topic: Income Statement
38)E

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
39)E

Diff: 2 Page Ref:

Topic: Raw Materials Inventory Turnover and Days' Sales
40)C

Diff: 2 Page Ref:

Topic: Income Statement
41)C

Diff: 3 Page Ref:

Topic: Income Statement
42)C

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
43)E

Diff: 2 Page Ref:

Topic: Raw Materials Inventory Turnover and Days' Sales
44) A

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured
45)B

Diff: 2 Page Ref:

Topic: Comparing Product and Period Costs; Manufacturing Costs
46) A

Diff: 2 Page Ref:

Topic: Schedule of Cost of Goods Manufactured

25



Exam

Name

ESSAY. Write your answer in the space provided or on a separate sheet of paper.

1) is the process of setting goals and making plans to achieve them.
Answer: Planning
Diff: 1 Type: ES

2)A

cost changes in total in proportion to changes in the volume of activity.
Answer: variable

Diff: 1 Type: ES

3) Expenditures incurred in the process of converting raw materials to finished goods, that incli
direct labor and factory overhead are known as

Answer: CONvVersion costs
Diff: 1 Type: ES

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

4) Which of the following is not a direct cost for a scooter manufacturer? 4)
A) Handle bars.

B) Office rent.
C) Brakes.

D) Grip tape.
E) Wheels.

Answer: B
Diff: 3 Type: MC

TRUE/FALSE. Write 'T' if the statement is true and 'F' if the statement is false.

5) Total quality management (TQM) focuses on quality improvement to business act 5)
Answer:  True False
Diff: 1 Type: TF

6) Period costs are incurred by manufacturing finished goods.
Answer: True
Diff: 1 Type: TF

6)
False



MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

7) Use the cost information below for Ruiz, Inc. to determine cost of goods manufact 7)
for the year:

Work in Process, January 1 $ 50,000
Work in Process, December 31 37,000
Total factory overhead 5,500
Direct materials used 12,500
Direct labor used 26,500
A) $44,500. B) $52,000. c) $13,000. D) $94,500. E) $57,500.
Answer. E

Diff: 2 Type: MC

8) Current information for the Healey Company follows: 8)
Beginning raw materials inventory $ 15,200
Raw material purchases 60,000
Ending raw materials inventory 16,600
Beginning work in process inventory 22,400
Ending work in process inventory 28,000
Direct labor 42,800
Total factory overhead 30,000

All raw materials used were traceable to specific units of product. Healey Compar
total manufacturing costs for the year are:

A) $131,400.

B) $137,000.

C) $139,000.

D) $125,800.

E) $128,600.

Answer. A
Diff: 2 Type: MC

TRUE/FALSE. Write 'T' if the statement is true and 'F' if the statement is false.

9) Product costs are capitalized as inventory on the balance sheet and period costs 9)
expensed on the income statement.

Answer: True False
Diff: 1 Type: TF



10) The sales commission incurred based on units of product sold during the month i
example of a product cost.

Answer: True False
Diff: 2 Type: TF

10)

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

11) Flash Company produces lamps. All of the following are direct eostspt
A) Factory rent.

B) Switch.

C) Wages for assembly.
D) Lamp shade.

E) Electrical cord.

Answer: A
Diff: 2 Type: MC

11)

12) Using the information below, compute the raw materials inventory turnover: 12)

Raw materials used $ 121,600
Beginning raw materials inventory 18,000
Ending raw materials inventory 20,200

A) 6.02. B) 60.6. C) 6.76. D) 54.0. E)6.37.
Answer: E
Diff: 2 Type: MC



13) Use the following data to compute total manufacturing costs for the month: 13)

Sales commissions $ 10,800
Direct labor 39,600
Indirect materials 15,200
Factory manager salaries 7,200
Factory supplies 9,000
Indirect labor 6,300
Depreciation—office equipment 5,000
Direct materials 40,500
Corporate office salaries 42,500
Depreciation—factory equipment 7,500

A) $141,100.

B) $125,300.

C) $58,300.

D) $84,800.

E) $45,200.
Answer: B

Diff: 2 Type: MC

TRUE/FALSE. Write 'T' if the statement is true and 'F' if the statement is false.

14) Both financial and managerial accounting affect user's decisions and actions. 14)

Answer: True False
Diff: 1 Type: TF

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

15) An employee is dissatisfied with the resolution of an ethical conflict with his super 15)
at his place of employment. According to the Institute of Management Accountant
employee's next step should be to:

A) report the incident to the State Board of Accountancy.

B) contact the IMA.

C) make the president of the company aware of the ethical conflict.

D) resign from the company.

E) contact the next level of management who is not involved in the ethical confli

Answer: E
Diff: 2 Type: MC



16) Managerial accounting information: 16)
A)





















































































































































































































































































































